SUZUKI JIMNY

mounting bracke

Item| Description Draw ST Spec Item| Description Draw |QT | Spec
Y
Front bumper | g Q | Spacer | 11 | &12¢03543
Winch mount N 1 | 770#308¢190 | R | Hex screw @ 10 M6%20
Fangs B | 2| mossisss | 5 | Hexnut 8 NG
Hoop / 1 | 7541094128 | T | Spacer 18 | 06x016%1
e e (0 | 2| w1 [smer | e [ 0]
Spacer 1 O 60% b 13%6 y |Girder connecto 9
LED light X | 2 | 95 |y | Rrillefixplate | _—= | |
Hex screw @ 13 M12435 x | Winch base @ 1 | 405%161%92
Hex nut @ 1 M12%50 Y Hex screw @ 4 M10%30
Spacer 24 | ¢1xo2k | I | Hexnut 4 10
Spacer = g | Hexscrew @ 4 M12+40
Hex nut 18 M12 i | Connector plate Eﬁ
Hex screw @ 6 M10%%5 ic | Connector palte % 9
Spacer 14 | ¢10%d30%3
Spacer &= | 10 M10
License plate —_— | 314456430



Administrator
打字机文本
Front bumper

Administrator
打字机文本

Administrator
打字机文本
Winch mount

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本
Spacer

Administrator
打字机文本
LED light

Administrator
打字机文本

Administrator
打字机文本
Hex screw

Administrator
打字机文本
Hex nut

Administrator
打字机文本

Administrator
打字机文本
Spacer

Administrator
打字机文本
Spacer

Administrator
打字机文本

Administrator
打字机文本
Hex nut

Administrator
打字机文本
Hex screw

Administrator
打字机文本

Administrator
打字机文本
Spacer

Administrator
打字机文本
Spacer

Administrator
打字机文本

Administrator
打字机文本
License plate 
mounting bracket

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本
Hex screw

Administrator
打字机文本

Administrator
打字机文本
Hex nut

Administrator
打字机文本
Hex screw

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本
Spacer

Administrator
打字机文本
Hex screw

Administrator
打字机文本
 Hex nut

Administrator
打字机文本
Spacer

Administrator
打字机文本
Spacer

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本
Winch base

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本
plate connecting 
bumper and girder

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本
Girder connector

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本
Rrille fix plate

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本
Connector palte

Administrator
打字机文本
Connector plate

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本
Fangs

Administrator
打字机文本
Hoop

Administrator
打字机文本

Administrator
打字机文本
Item

Administrator
打字机文本
Description

Administrator
打字机文本
Draw

Administrator
打字机文本
QTY

Administrator
打字机文本
Spec

Administrator
打字机文本

Administrator
打字机文本
Item

Administrator
打字机文本

Administrator
打字机文本
Description

Administrator
打字机文本
Draw

Administrator
打字机文本
QTY

Administrator
打字机文本
Spec

Administrator
打字机文本

Administrator
打字机文本


Check the accessories.

STEP TWO

Remove the original bumper.


Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本
Check the accessories.

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本
Remove the original bumper.

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本
STEP ONE

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本
STEP TWO


STEP THREE

Installpart V(2sets) on the girder with R(8pcs), S(4pcs),T(12pcs),U(8pcs).Only Jimny 2012+
need to install this part.

STEP FOUR

Install the winch mount on the vehicle with original holes ,use H(2pcs),J(4pcs) ,K(2pcs) and
(2pcs) to fix.

Install Part X with Y(4pcs),N(8pcs),0(4pcs) and Z(4pcs) fixed.


Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本
Install 

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本
part V(2sets) on the girder with R(8pcs), S(4pcs),T(12pcs),U(8pcs).Only Jimny 2012+ 

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本
need to install this part.

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本
Install part C on the winch mount,in step six.

Administrator
打字机文本

Administrator
打字机文本
STEP THREE

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本
Install the winch mount on the vehicle with original holes ,use H(2pcs),J(4pcs) ,K(2pcs) and L(2pcs) to fix. 

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本
Install Part X with Y(4pcs),N(8pcs),O(4pcs) and Z(4pcs) fixed.

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本
STEP FOUR

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本


SETP FIVE

°C "o
\&DDDDD/

Install part G on the part A with the original screws of the part G. Then install part D ,with M(2pcs),N(
pcs),0(2pcs). fixed.

Install part A on the part B with H(6pcs),J(12pcs),K(6pcs),L(6pcs) fixed.
Install part AB and part AC on the vehicle with AA(4pcs),Q(8pcs),K(4pcs),L(4pcs) fixed.

Notice: please make sure the distance between bumper and vehicle sha
Id be 20mm.

STEP SIX

Install part E with H(5pcs),J(8pcs),K(6pcs),L(6pcs),Q(3pcs),I(1pc),F(1pc).
Part W is used for 2012-2016 Jimny only.

Install part C on part B ,with M(4pcs),N(4pcs),O(4pcs) fixed.


Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本
Install part G on the part A with the original screws of the part G. Then install part D ,with M(2pcs),N(2pcs),O(2pcs).

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本
Install part A on the part B with H(6pcs),J(12pcs),K(6pcs),L(6pcs) fixed. 

Administrator
打字机文本

Administrator
打字机文本
fixed.

Administrator
打字机文本

Administrator
打字机文本
Install part AB and part AC on the vehicle with AA(4pcs),Q(8pcs),K(4pcs),L(4pcs) fixed.

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本
Notice: please make sure the distance between bumper and vehicle should be 10mm.

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本
Install part E with H(5pcs),J(8pcs),K(6pcs),L(6pcs),Q(3pcs),I(1pc),F(1pc).

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本
Part W is used for 2012-2016 Jimny only.

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本
STEP SIX

Administrator
打字机文本

Administrator
打字机文本
SETP FIVE

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本
  Install part C on part B ,with M(4pcs),N(4pcs),O(4pcs) fixed.


STEP SEVEN

Install part P on part A with R(2pcs),S(2pcs),T(4pcs),U(2pcs) fixed

extra 2pcs part S, 2pcs part T and 2pcs part U are used for install license.

Finish.


Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本
STEP SEVEN

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本
Install part P on part A with R(2pcs),S(2pcs),T(4pcs),U(2pcs) fixed

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本
extra 2pcs part S, 2pcs part T and 2pcs part U are used for install license.

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本
Finish.




